oS EE B cosx = 0.7193 = THESH= x of TSl tanx 9] 3522
P =) sin Ccos tan
44° | 0.6947 | 0.7193 | 0.9657
45 |1 0.7071 | 0.7071 | 1.0000
46° | 0.7193 | 0,6947 | 1,0855
47 10,7314 | 0.6820 | 1.0724

@0.9657 @ 1.0000 ® 1.0355

@ 1.0724 ® 1.9657

cos44° = 0.7193
T x=44°
kA tan44 ° = 0.9657 o]t}




@ (1)22v72,(2)43V3 @ (1)22V2,(2)45V3
® (1)22V2,(2)48V3 @ (1)24V2,(2)45V3
(@)(1)24«/5, (2)48 V3

B

(1) (Wo]) =6x8xsin45°

V2

:6><8><7=24\/§

(2) (Hol) = % x 12 X 16 X sin(180° — 120°)

1 3
=§><12x16x‘/7_=48«/§




3. = o] dofl Wst= oABCD oA sx o] A271:=7

@® 75° @ 76° (@)77" @ 78° ® 719°

DABCD 7} o] Wi3stad cx = /A




ot
il

79 ABC oA &2 A&
2AH? (Ag 27))

4 oo
=T

@cosA—i—sinA = g

@tanA:?1 B,’ /
G@‘)sinB—§ ¢
5
12
® cosB xcosA = 5
BC = V152 -92 =12
BC 4
@ tanA = — = —
METAC 3
AC 3
an 7
BC AC 4 3 12
@COSBXCOSA_EXﬁ gxg 55




5.  /C=90° ¢ A2 ABC oA /B=60°,BC=6 <Y o, AH 2

Zdole?

@ 3 @ 42 ® 6 @)9 ® 63




® a=ccosB
@c = asin (90° — B)

® ¢ =bsinB+acosB

~&B

b b
O st c ¢ sin B
b b
tanB = — =
D tan a tan B
@cosB:g . a=ccosB
® H CoM AB ol & =49 22 H 2 51 cosB =
— -
B— .. BH=acosB
a
AH S
cos(90 — B) = - - AH =bsinB

. ¢=AH+ BH = bsin B + acos B




oS 1} Zo] T Qo] FAo] A5}

31, WA 5] Aol 247} sem, Tem ©]t.

d AB 7} A2 9o HAL W, & AB 9

7] o].‘:‘?

S8
2cm

® +6em @ 2vV6em @4\/601(11
@ 4cm

® 6cm

OA=7cm, OM=5cm, AM = V72—52:2\/€(cm)
o AB=2V6x2=4v6(cm)




O 25° @ 35° @45° @ 55°

® 65°

~&B

1
= ]_ 2 —_— = 1 °
(ADB 80° x B 5

L/CAD = 180° x % = 30°
. Lx = 45°




9. tanA= V3 Y o sin?A -cos?A 2] F2? (T, 0°<A<90°)

1 5 5 1 5
D3 @3 @ @3 © 15
tand = V3 & WK 2214719 ABC C
£ 95w AC= VT4 V32 =2 y
SsinA = \/75, COSA = — ‘\I
sin? A — cos? A !
3 1 1 \/r§
4 4 2 /
AL OB
-




10. v 233 22 BPAHEE ABCD

oAl thZ-4 BD ¢+ AC o] ZHE P
2} gt} /BCD = 60°, AD = 12cm,
AB = 8cm ¥ W], AAPD 9] Hol&
otoizt,

@12\/3 @ 14V3 ® 16V3 @ 1843

~&B

AAPD = 1AABD

:§X—><8><12><sin60°




11. o5 283 Zo] A P oA §HA59

A
Fol7k4 91 940 o 1 T WAL -
HAAE A B g} 5}1, /APB = 45° &
o, 5.0ptAB o] Zo]=? P

B

D n @371 ® 4rn @ 6n ® 127

(AOB = 135° o|E =2

135
=2 X4X —— = O|TT.
X T X X360° 3r o]tk




12. o= 283 Zol A

Hh O oA Al A1 AD,
BC, CD 7} & W, AD = 1cm, BC = 9cm o[tk ¢ O 9] 2 &2

7ol

@ 3cm @ 4cm ® 5cm ®)Y6cm ® Tem

A D oA AB < Pt A& 1o BC o it & H 2 ohd
CH =8(cm), CD=CE+DE =CB+AD =9+ 1 = 10(cm)

- AB =DH = V102 - 82 = 6(cm)




13.

x of TSt o)A A A ax? —2x +8 =0 9] §F 2¢] 28in90° — 3 cos0°

d o, a o gh= 5HE?

@-0 @ -2 @ ® 6

O AA ax? -2x+8 = 0 9 x = -1 2 YA, ax (-1)2 -
2x(-1)+8=0
a+2+8=0,a=-10




14.

b2 AB -
Kol Tohs
e

5cm , BC = 8m ©]1, /ZABC =
Aotk [ |oto] gre AL w2 A Ydt

45° 91 AABC 9

Ai—sx[ -2V

~aABC = x[]
—1)(8)(&
2 2
=10V2(em?)

O

B

@D cos45°,BC x AH
(3®)sin 45°, BC x AH

® sin45°, AB x BC

@ tan45°,BC x AH

@ sin45°,AC xBC

AHIBC A HHEHoH
ﬁ:5xsin45°:¥
- AABC :%xﬁxm
1 5v2
= —X8X —
2 2
=10V2(cm?)




15.

oS 1T -2 A 0 oA LACP +
/BDP 9] 3F& F5H?

@® 86° @ 88° G@)QOO

@ 92° ® 94°

B

H0¢pE dAdstd

LAOP = 2/ACP

(BOP = 2/BDP

. LAOP + /BOP = 2/ACP + 2/BDP = 180°
. /ACP + /BDP =90°




